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Oefenblad: Kleur het goede antwoord uit de tafel van 8
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6x8=

4840, (56 (32,

2 X 8=

4% 8=

(52)(24)(56) (48,

13.

10x 8=

17.

10x 8=

48)(24)(80)(72)
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Tafels

2 X 8= 3x8= 1x8=

G6)(s0)(as)(32)  (48)(72)(28)(60)  (o4) ) (a0)(72

2 X 8= 10x 8= (X 8=

40)(72)(64)(26)  (o4)(s0)(16)(40)  (48)(72) 1) (5

10. 11. 12.

3x 8= IxX8= 10x 8=

o4)(24)16)40)  (8)(o8)(32)(29)  (80)(72)(8) (a0

14. 15. 16.

) x 8= Ox 8= 6X8=

a6)(s0)(32)(28)  (4a0)(s0)(72)(32)  (48)(s)(s0) o4

18. 19. 20.

6% 8= 8% 8= 4% 8=

48)(16)(8 (80 (16)(64)(32)(26)  (32)(80) o) 48
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g‘ez\el\lnTl?/lvagC:)}éEeEul\r" het goede antwoord uit de tafel van
<l Tafels
1. 2. 3. 4.

bx8= 2 xX8= 3xX8= 1x8=
48)(40)(s6)(32)  (16)(s0)(48)(32)  (48)(72)(24)(6a) (64)(s (40)(72
5. 6. 1. 8.

2 xX8= 2 xX8= 10x 8= [ x8=
40)(72) (64) (16) 48)(72) 16 (56)
9. 10. 11. 12.

4x8= 3xX8= 3x8= 10x 8=
32)(24) (56 (48) (8)(e4)(32)24)  (80(72)(8) 40,
13. 14. 15. 16.

10x 8= 2x8= 9x8= 6x38=
16)(80)(32)(24)  (40)(80)(72)(32)
17. 18. 19. 20.

10x 8= 6x8= 8% 8= 4x8=
48)(24)(s0(72) 16)(6a)(32)(24)  (32)(80) 64 (48
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